Man Power Assessment Formula

Committed Time:

1.  Part One Crimes
=
2 hours.

2.  Part Two Crime
=
1 hour

3.  Traffic Accidents
=
1.5 hours

4.  Calls for Service
=
.5 hours

For every hour of committed time you need 3 hours of non committed time. 

  (CT X 3) +CT = Total Manhours

Manhours / 1780 hours (Hours worked, vaction, sick days, training ect.) = Number of officers Needed.

 SAMPLE:

Part One


=
100 x 2 hrs
= 
200

Part Two


=
200 x 1 hrs
=
200

Traffic Accident

=
150 x 1.5 hrs
=
300  225 
Calls for service

=
5000 x . 5 hrs
=
2,500

Total committed hours



=
3,200  3,125
(3200 Committed Hours x 3)  + 3.200 = 12,800 hrs. /1780 = 7.2 7.02 Officers)
  

